Summative assessment of the Term 1.

Grade 8
(Demo)
1. (B) Choose the correct answer.
I like to drink when it’s hot.
A) strawberry
B) grapes
C) mushroom
D) mineral water
2. (B) Choose the correct answer.
Can I have some with my dessert?
a) cream
b) curry
c) burger
d) seafood
3. (B) Choose the correct answer.
A is smaller than a laptop, but bigger than a mobile phone. You can

play games on it and use it to go online.

A) cameras
B) tablet
C) memory
D) mouse

4. (B) Choose the correct answer.

describes cameras and clocks that record information as Os or 1s.



A) memory
B) machines
C) digital
D) virus

5. (Q) Choose the correct answer.
David is very good at playing football, but Jason is
A) best
B) the best
C) better
D) good

6. (Q) Choose the correct answer.
Itwas  day of my life.
A) the most happy
B) the most happiest
C) the happiest
D) happier than

7. (Q) Put the words in the correct order.
I/ be / bad / singer in our class.

A) I am worst the singer in our class.
B) I am in our class the worst singer.
C) I am the singer worst in our class.
D) I am the worst singer in our class.

8. (Q) Put the words in correct order.

My best friend / be / friendly / person in our class.




A) My best friend in our class is the friendliest person.
B) My person is best friend the friendliest in our class.
C) My best friend is the friendliest person in our class.
D) My the friendliest best friend is person in our class.

9. (Q) Choose the correct answer.
A: I can’t move my leg and I think it’s broken.
B: You (walk) on it.

A) should walk

B) shouldn’t walk
C) must walk

D) shouldn’t walking

10.(Q) Choose the correct answer.
A: I’'m going to the gym to get fit for the race.
B: You (eat) lots of sweets and chocolate when you want to get fit.

A) should eat
B) have to eat
C) must eat

D) shouldn’t eat

11.(Q) Choose the correct answer.
Oh no! I’ve got a stomach
A) ache
B) hurt
C) cold
D) broke

12.(Q) Choose the correct answer.

I’m going to get because [ want to run in the race.



A) sick
B) fit

C) broken
D) ache

13.(Q) Choose the correct answer.
Oliver is 12 years old and Jessie is 12 years old.

Oliver is Jessie. (old)

A) not as old as
B) as old as

C) older then
D) the oldest

14.(Q) Choose the correct answer.
Jake 1s 1.50 m tall. Freddy is 1.45 m tall.
Freddy is Jake. (tall)

A) taller then
B) the tallest
C) as tall as

D) not as tall as

15.(M) Read the text and answer the question.

I had a wonderful day yesterday! It was my 14™ birthday and my parents took me
to the fantastic new American restaurant in our town. Do you know it? It’s next to
the cinema. I had a burger and chips for my main course and I drank an amazing
glass of lemonade that was made with fresh lemons! My mum had an omelette and
a salad, and my dad had chicken legs. The restaurant is very popular. It was so
busy! We had to wait to get our food, but that was OK. Everyone was very friendly
and there was a band playing music!

The best part of the meal was dessert. I had chocolate cake. My mum had fruit
salad and cream, but Dad didn’t have anything. At the end of the meal, the
manager came over to our table. ‘Happy birthday, young man,’ he said. ‘Would
you like your present now?’ Do you know what my present was? My meal! My
parents didn’t have to pay for it! We were all very surprised. It was a brilliant
evening.

Danny



What was the best part of Danny's meal?

A) The burger and chips

B) The lemonade

C) The chocolate cake

D) The fruit salad and cream



